
1 2 3 4 5 6 7 8 9 10 11 12 13

1 nw/k esa xk; 94 0 12 0 106 0 0 6 0 0 100

2  'kq"d xk; 144 0 6 0 150 0 0 9 0 0 141

3 vkSlj 106 0 4 0 110 0 0 3 0 0 107

4 eknk cPps 122 7 0 0 129 1 0 4 0 0 124

5 uj cPps 93 5 1 0 99 1 0 1 0 0 97

6 lkaM+ cNM+s 3 0 0 0 3 0 0 0 0 0 3

562 12 23 0 597 2 0 23 0 0 572

* TWH - TRANSFER WITHIN THE HERD.

 dqy i'kq 

;ksx 
(3+4+5+6)   

Ekkg esa 
forfjr -
lkaM+

TWH*
;kstuk 

esa 
forfjr

Ek̀R;q
ekg ds vUr esa 'ks"k           

7-(8+9+10+11+12)
Ø;

mRrjk[k.M i'kq/ku fodkl ifj"kn ¼;w-,y-Mh-ch-½ 

ekfld izxfr & gMZ ,dkmUV] i'kq iztuu iz{ks=] ufj;kyxkao] pEikor 
ekg % vxLr] o"kZ % 2025&26 

Ø-la- fooj.k
fiNyk 
'ks"k 

tUe TWH* LFkkUrfjr ¼df̀"k 
iz{ks=ksa esa½


